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A researcher wants to test some hypotheses regarding the relationship

between size and age of a firm and its performance in a particular

industry.

Size was measured by the number of employees (in 100s) working in the

firm, age was the number of years for which the firm has been operating,

and performance was measured by return on equity. A sample of 50 firms

was selected at random.
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The researcher wanted to test the following two hypotheses:

H1: Performance of a firm is positively related to its size.

H2: Performance of a firm is positively related to its age.
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Hierarchical regression is in many ways similar to a standard

multiple regression, the only difference being in the way IVs are

entered in the model.

For example, in the above solved example, theoretical

considerations may demand that we first assess the model with

only the size of the firm and introduce the age of the firm in the

second stage.
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Transfer Performance into the

box labeled Dependent and

size into the box labeled

Independent(s).

Once size is entered, a button

labeled Next becomes active

above this box. Clicking on

Next will again empty the box

labeled Independent(s).

Transfer the second IV, age

into this box.
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The first table labeled titled Entered/Removed shows

that size was entered in Model 1 followed by age in

Model 2. Please note that Model 1 includes

only size as IV whereas Model 2 includes both size as

well as age as IVs.
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INTEPRETASIKAN SELURUH OUTPUT REGRESI HIRARKI SESUAI 

PROSEDUR.
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R E F L E K S I
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1. Informasi penting hari ini

2. Manfaat penting dari informasi penting hari ini

3. Tindak lanjut yang dapat saudara lakukan



T H A N K  Y O U !
A N Y  Q U E S T I O N S ?




